il
W
St
%
I

1. TE4
THE4 A6 mEEHIXENERE O 3 TH
THEHA RE VR S IR T R 1 L IR 15
2. THEHNE
1) HEI4 JUPRNRN =BT TSR
2) &£ T f ) T2
3) T i 2190 [ H AFn 64E 8H 9H
= SFn T4 3H15H
4) TEyE

E 2@ UM )R




Vvl = =
FEENFRE s
THE4 | D6 FE ®EHXIEHEERZO 3 TEF
TSy « TfE - FER B {7 ¥ & & # A bl A iR
FLLt - =X 1 88, 510, 329
LT = 1 21,916, 843
PEHI L (ICT) = 1 3,399,300 |#@HI (ICT) 9, 000 m3
/Y -7 iy BEEMEL 5, 000m3LL 110, 000m3
AR
EEEEIE T (ICT) = 1 1,123,423 |{EmEETE (G) L) (ICT) 1, 180 m2
VY = W R OWhE = CREE L
BRI (B 1356) (ICT) 110 m2
EmEAEE O L
P v T = 1 17,394, 120 |54t 9, 000 m3
B2 A couE
b E 5,500 m3
+w(v72) ;
b 3,510 m3
+w (72) ;
LR L 2 1 54, 549, 387
e+ T 2 1 3,805,637 |FRYEY 1 X
+4)
HEL 1 2V
HEL 1 2V
HmEEE 1 =X
T wb AT 1 =X
+w (v72) ;
e 1 =
B2 A couE
/) =h7"my ) (577 vy /5R) = 1 47,658, 181 | BT Hmsav -} 296 m
18-8-40 (75 47) JEIE 46cm & 50cm ;
B TR (FRRE) 207 -b 1 (=10
(E&5)
18-8-40 (B ) ;
B F TR (BEHE) 3/7) - 1 £ FT

-1- Etzzm@E SN R




Vvl = =]
FEENRE s
THE4 | D6 FE ®EHXIEHEERZO 3 TEF
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
(W EL5)
18-8-40 (B ) ;
B TR (FRRE) 207 -b 1 (£
(M E%5)
18-8-40 (B JF) ;
EIRSIVARPYE = 1, 351 m2
(KRBT ny)ig)
150kg/MELL | #5FE #2% 350mm FEAERET RC-40
18-8-40 (B JF) MKV ;
H Hi 147 m2
T A bk t =10 ;
Bl HT Ruiav - 55 m3
18-8-40 (&)
H#RT R L 2 1 2,985,849 | iEav -} 307 m2
(HED)
HRsA = 15em 207 -MNE20cm ;
gy -} 45 m2
(FEY
FRs A E20em 2v7)-ME35cm ;
fiA T 2 1 99,720 |IEE 40 m2
IR T 100m2ATH ;
FRIE D T = 1 8, 725, 340
D7 vy T 2 1 8,545,500 | YHIEARE 7 ny/HULE 180 1l
Ty fEEE (AEE) 2t
HRE D7 vy s HEft 180 &
HEFH7 gy 7 ny )RR (N R) 2t 7 mylfE
AN
VH AR [E 7y J i i 180 |
2.5tPAF FEAA-HRATT (J8FE) 58 1. 5kmLLF
s ¢ = 1 179, 840 | M54 40 m3
FNZEA (150-200mm) 1E< LA

-2 - Etzzm@E SN R




== /oA = =
FER N E e
T4 | ST6FE g XIEEER<o 3 TF
TEHX4y « Tfd - FER B Az £ & #A i il A R
A = 3,318, 759
8 RAEY) T = 529,779 |+ 5 1 =
(KE+to9)
+o 5 s 1 F2V
(KE+to9)
frog+ 1 2V
R H 1 =
be il 1 =
RC-40 ¥J& 100mm ;
Lk €N 1 X
KB =Y 809, 020 | v7 HEk 1 =
0LA 40 (m3/h) Kl TEZERFIK
VB 1R T = 1, 650, 400 |{5HEBE L7/ 1 =
BRE -
A ERE E T = 329,560 | AZiEFEEES 5 1 =
[ERAE Xy = 88,510, 329
HiE 2 = 8,432, 372
BISTIGE: = 1, 555, 372
HeffrE sy 2 662, 372 | {R5FEHER(ICT) 1 =
YATLRIE 2 (ICT) 1 F2V
BGRESCGES (5 1) = 893, 000
B (FEHL) = 6, 877, 000
T = 96, 942, 701
Bl gy = 26, 145, 000
-3 - E+A8@  FuNH T S




&=

PR
TH4 | B6EE WX IEHER O 3 TH
THEXSy - THE - FE5 H & N
T AT X 123, 087, 701
— R B 2V 20, 542, 299
N 2V 143, 630, 000

TAZIEE LN )R




